Nr Ilos¢ |Dtugosé|Dtugosé catkowita wg @
Poz. oreta & szt. pojed. 5 o B 20
(n) g6 | g pB| g
Poz. 71, 7.2, 73, 74, dt ltgczna = 61,8m
1 6 |dt. cat= 8700 | 870.0
. 12 | dt. cat= 1104 110.4
‘é 3 | 16 |dt.cat= 104.0 104.,0
R 6 | 384 | 074 2842
2 | 2 | 12 |dt.cat= 489 48.9
S | s 6 | a0 | 082 | 738
1 6 |dt.cat= 760| 76,0
= |2 | 12 |dtcat= 252 05,2
E 3 | 16 |dt.cat= 53.1 53,1
6 6 | 44 | 114 | 502
7 6 | 44 | 086 | 378
1 6 |dt. cat= 4800 | 490.0
= 2 |dt. cat= 8238 82,8
8 3 | 16 |dt.cat= 1560 156,0
8 6 | 288 | 102 | 2038
% | 2 | 1 |dt. cat= 1869 186.9
S | s 6 | 104 | 114 | 2212
ﬁf 2 | 12 |dt. cat= 5946 594.6
I 6 | 720 | 102 | 7436
- | 2 | 1 |dtcat= 624 62.4
E 3 | 16 |dt.cat= 146.0 146,0
< | g 6 | 219 | 102 | 2226
B 6 |dt. cat= 5800 | 590.0
S 2 | 2 |at cat= 2076 207.6
£ 3| ® [d. co= 1032 1632
9 6 | 352 | 002 | 3238
1 6 |dt. cat= 3174 | 317.4
o 2 12 | dt. cat=" 54.0 54,0
E 3 | 16 |dt.cat=126.9 1269
9 6 | 189 | 092 | 173.9
1 6 |dt. cat= 138,0 | 138.0
% 2 | 12 |dt.cat= 138 13.8
S8 | 1| 6| o | 040 384
11 | 20 |dt.cat= 13.0 13,0
razem: [mb] 49447 1386.6| 749,2] 13.0
ciezar:  [daN/mb]l  [0.222 | 0888 | 158 | 2.47
razem: [daN] 1097.7 | 1231,3[1183,7 | 32.1
razem: [daN] 3544 .8
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